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INSTRUCTIONS

Part I.
Circle the best answer for each independent question.

Part II.
Show all calculations to obtain maximum marks.

Duration:
20 minutes

Aid:  

Non-programmable calculator



TABLES ATTACHED
MARKS:

Part I:   _______

Part II:  _______

Total:   _______

MGT 220 – FINANCIAL ACCOUNTING II

THE QUALITY OF EARNINGS

QUIZ #3
MARCH 10, 2004

Name: __________________________________

Student Number: _________________________

PART I.  Select the BEST answer for each of the following independent questions.  (9 Marks)

Use the following information for questions 1 through 3. Ignore taxes.

Marco, Inc. is a calendar-year corporation.  Its financial statements for the years 2002 and 2003 contained errors as follows:








 
2002 
         
  _
2003 
         




Ending Inventory
$  6,000
understated
$10,000
overstated



Amortization Expense
11,000
overstated
7,000
overstated


1.
Assuming that the errors made in 2002 were corrected, but that the errors made in 2003 were not detected, by what amount will 2003 income before taxes be overstated or understated?



a.
$3,000 overstated



b.
$10,000 overstated



c.
$17,000 overstated



d.
$3,000 understated



e.
None of the above


2.
Assuming that none of the errors was detected or corrected, by what amount will retained earnings at December 31, 2003 be overstated or understated?



a.
$23,000 understated



b.
$17,000 understated



c.
$8,000 understated



d.
$10,000 overstated



e.
None of the above


3.
Assuming that none of the errors was detected or corrected, and that no additional errors were made in 2004, by what amount will current assets at December 31, 2004 be overstated or understated?



a.
$10,000 overstated



b.
$0



c.
$4,000 overstated



d.
$10,000 understated



e.
None of the above

4.

Professional judgement plays an important role in Canada because


a.
the business environment is complex and there cannot be a rule for every situation.

b.
Canadian accounting standards are based primarily on general principles rather than specific rules.

c.
professional accountants have the experience and education that enables them to apply GAAP principles.



d.
all of the above.



e.
none of the above

5.

Year-end net assets would be overstated and current expenses would be understated as a result of failure to record which of the following adjusting entries?



a.
Expiration of prepaid insurance



b.
Amortization of long-lived assets



c.
Accrued wages payable



d.
All of these



e.
None of the above

6.

The elements of financial statements include investments by owners. These are increases in an entity's net assets resulting from owners'



a.
transfers of assets to the entity.



b.
rendering services to the entity.



c.
satisfaction of liabilities of the entity.



d.
all of these.



e.
none of the above

7.

Which of the following relates to both relevance and reliability?



a.
Materiality



b.
Understandability



c.
Usefulness



d.
All of the above.



e.   None of the above.

8.

Which of the following is true about intraperiod tax allocation?
a.
It arises because certain revenue and expense items appear in the income statement either before or after they are included in the tax return.

b.
It is required for extraordinary items but not for the cumulative effect of changes in accounting principles.

c.
Its purpose is to allocate income tax expense evenly over a number of accounting periods.

d.
Its purpose is to relate the income tax expense to the items which affect the amount of tax.

e.
None of the above

9.

Which of the following items will not appear in the retained earnings statement?



a.
Net loss



b.
Correction of an error



c.
Change in accounting estimates



d.
Stock dividends



e.
None of the above.

PART II.  (6 Marks)
At the beginning of your first year in university, you decided to deposit $1,000 in an 8% account at the end of your third, fourth, and fifth years in school.  What will be the balance in the account one year after the last deposit?

Required:

a.
Draw and label a time line.  


b.
What type of problem is this?


Future value of an annuity due, deferred 3 periods

c.
Determine what will be the balance in the account one year after the last deposit.

f for an ordinary annuity where I = 8% and n = 3 is 3.24640.  Convert to


f for an annuity due by multiplying the factory by 1 + the interest rate:


3.24640 x 1.08 = 3.50611.


FV is $3,506.11.
  r	        r                  r	      FV?





0                1                2                3                4                5               6 





r = $1,000	I = 8%		y = 3		n = 3
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